HWCTS

Recessed Wall Mounted Electric Drinking Fountain

FEATURES & BENEFITS

Bubbler Head
Polished chrome-plated brass bubbler head features an integral
basin shank for added strength, and is equipped with a shielded,
anti-squirt orifice that provides a steady sanitary source of water.

Barrier-Free
Barrier-free capabilities combined with its ease of use allows for
a number of installation location possibilities.

Finish
Beautiful #4 satin stainless steel finish basin can be easily
cleaned and maintained while also resisting corrosion.

Ease of Installation
Installing Model HWCT8 drinking fountain and Model HCR8
refrigeration pack is made easy with this heavy gauge
galvanized steel mounting frame.

Push Button
With its patented (Pat.# 6,981,692) push-button valve assembly
which allows for front access stream adjustment as well as
cartridge and strainer access, this fountain offers the ultimate in

K ease of maintenance. j

O Filter: Model 6426, 12" x 2", in-line lead removal element that
reduces lead from incoming water supply.

& €

R

N J

SPECIFICATIONS

Model HWCT8 barrier-free, full recessed electric drinking fountain
features a large basin with matching panel and grille manufactured
of 18 gauge, Type 304 Stainless Steel with a satin finish. It is
designed to be installed above a wheelchair access area. The
refrigeration system is balanced to provide low energy
usage/longer life by utilizing a high displacement compressor, a
counterflow cooling evaporator/chiller, efficient capillary sizing, a
large capacity dryer-strainer, and a fan-cooled condenser with
maximum heat exchange. 115V, 60 Hz. Environmentally friendly
R134a refrigerant is controlled by calibrated capillary tube. Model
HWCTS features front mounted push-button valve, vandal-resistant
bubbler head and provides 8 gph of chilled water. Capacity is
based on ARI standard rating conditions of 80°F inlet water
temperature, 90°F room temperature, 50°F drinking water

temperature.
- J

APPLICATIONS

Perfect for either public or private indoor/outdoor settings, Model
HWCTS8 is a great fit in areas where aesthetics are important to the
overall appeal of the architecture. Specifically, this type of fully
recessed wall mounted drinking fountain may be placed in settings
such as: schools and other locations in and around office buildings
where the temperature remains above freezing.

Model meets all current Federal Regulations for the disabled
including those in the Americans with Disabilities Act. Haws
manufactures drinking fountains, electric water coolers and electric
drinking fountains to be lead-free by all known definitions including
ANSI/NSF Standard 61, Section 9, California Proposition 65, and
the Federal Safe Drinking Water Act. Haws electric water coolers
comply with ARI Standard 1010 and ANSI A117.1, and be listed by
KUnderwriter Laboratories to U.S. and Canadian standards. j

(.n Flcers

1455 Kleppe Lane | Sparks, NV 89431 | [p] 775.359.4712 | [f] 775.359.7424 | [e] info@hawsco.com | www.hawsco.com | 2 March, 2009
DISCLAIMER: Continued product improvements make specifications subject to change without notice. Check www.hawsco.com for the latest product information and updates.



INSTALLATION, OPERATION

T avs &

corporation MAINTENANCE INSTRUCTIONS

1455 Kleppe Lane ¢Sparks, NV 89431-6467 ¢(775) 359-4712 *Fax (775) 359-7424
HAWS AG +¢Bachweg 3 *CH-3401 Burgdorf ¢ Switzerland
Haws Mfg. Pte Lt. #2A Sungei Kadet Drive ¢Singapore 729554
Avlis-Avenido Senador, Testonio Vilela #505 Jardim Aeroporto ¢ Itu, S.P. 13304-550 *Brasil
E-mail: haws@hawsco.com ¢ website: www.hawsco.com

No. 2080317(10

Model HWCTS8 Water Cooler

NOTE TO INSTALLER: Please leave this information with the Maintenance Department.

A ground-fault circuit breaker shall be installed CAUTION! Prior to making any electrical
in the branch circuit supplying fountain connections, verify with a voltmeter that power
equipment. NEC680-51(a). from the service panel is off.

LIMITED WARRANTY

HAWS® warrants that all of its products are guaranteed against defective material or poor
workmanship for a period of one year from date of shipment. HAWS liability under this
warranty shall be discharged by furnishing without charge F.O.B. HAWS Factory any
goods, or part thereof, which shall appear to the Company upon inspection to be of
defective material or not of first class workmanship, provided that claim is made in writing
to company within a reasonable period after receipt of the product. Where claims for
defects are made, the defective part or parts shall be delivered to the Company, prepaid,
for inspection. HAWS will not be liable for the cost of repairs, alterations or replacements,
or for any expense connected therewith made by the owner or his agents, except upon
written authority from HAWS, Sparks, Nevada. HAWS will not be liable for any damages
caused by defective materials or poor workmanship, except for replacements, as provided
above. Buyer agrees that Haws has made no other warranties either expressed or implied
in addition to those above stated, except that of title with respect to any of the products or
equipment sold hereunder and that HAWS shall not be liable for general, special, or
consequential damages claimed to arise under the contract of sale. The drinking fountain
manufactured by HAWS is warranted to function if installation and maintenance
instructions provided are adhered to. The units also must be used for the purpose for
which they were intended.

NO OTHER WARRANTIES EXPRESSED OR IMPLIED ARE AUTHORIZED, PROVIDED
OR GIVEN BY HAWS.

SHOULD YOU EXPERIENCE DIFFICULTY WITH THE INSTALLATION OF THIS
MODEL, PLEASE CALL:

1-800-766-5612
1-800-758-9378

(U.S.A. AND CANADA ONLY) MONDAY-THURSDAY: 6:00 A.M. — 4:00 P.M. PST
FRIDAY: 6:00 A.M —1:00 P.M. PST

FOR PARTS CALL:

10/08 Model HWCTS8 Page 1 of 7



RECOMMENDED TOOLS: Hack saw; pipe joint sealant, screwdriver, level, 12" adjustable
wrench, 10" pipe wrench, 5/64" hex key wrench, 9/16”, 1/2", 7/16" socket wrench or open end
wrench.

LOCATION OF UNIT: The Model HWCT8 Cooler is a wheelchair accessible drinking water
facility. The height dimensions shown, meet current ADA requirements. When installing this unit,
local, state or federal codes should be adhered to. If height other than shown is required, then
dimensions must be adjusted accordingly.

SUPPLY LINE: The minimum recommended line size is 1/2“IPS with 30-90 psi (2-6 ATM)
pressure. Where sediment or mineral content is a problem, an inlet filter is recommended.

PLUMBING CONNECTIONS: Inlet is 3/8“O.D. tube. Waste trap outlet is 1-1/4” O.D Tube.

ELECTRICAL CONNECTIONS: 115VAC, 60HZ, 4.7 AMPS. Chiller wired direct to incoming line, by
others.

PARTS LIST
MODEL PACKAGE QUANTITY ITEMS INCLUDED

MTGFR.HWCT Mounting Frame

#10 Sheet Metal Screws

Chiller

Bowl Assembly

Package supply tubing and strainer
Panel

Grille

Package of four each-grille
attachment, attachment clips, clip
nuts, #10 sheet metal screws and 6-

32 screws and 10-24 wing nuts.

HCRS8
HWCTS8

RPRPRRRRPRPNR

INSTALLATION PROCEDURE

GENERAL NOTES:

The Model HWCTS8 Water Cooler assembly requires installation of the mounting frame as
described in Steps 1 - 2, then mounting the fountain bowl assembly as described in Steps 3 - 6,
and finally completing chiller water and electrical connections and starting chiller per Steps 7 -
10. First check that all required parts are received.

Grounding may cause electrical feedback into the electric drinking fountain causing an
electrolysis, which creates a metallic taste or an increase in the metal content of the
water. This condition can be avoided by using dielectric couplings in the assembly. The
fountain is furnished with a nonmetallic strainer at the supply, which should meet this
requirement. The waste line, which is supplied by the installer, should also have a
dielectric (plastic) coupling to completely isolate the assembly from the building
plumbing system.

For all plastic push-in type fitting connections; push tubing into fitting until it bottoms
out to ensure a watertight connection. To remove, depress collette and pull tubing out.

10/08 Model HWCT8 Page 2 of 7




5/32"
4mm

10X

FIGURE 1

Step 1:

Step 2:

Step 3:

Step 4:

Step 5:

10/08

INSTALLATION PROCEDURE ...

Provide wall opening as detailed in Installation Drawing. Frame must be positioned
such that frame flanges overlap and butt against finished wall surface. Mounting
holes are provided for #6 sheet metal screws. After frame is positioned in wall, swing
chiller support tray into position (see Installation Drawing), align tray holes with holes
in frame and fasten with #10 sheet metal screws. Mounted frame must support 50-
pound chiller in addition to fountain weight and user generated forces.

Note: Trap will not fit directly below fountain receptor. Drain-waste-vent trap (by
others) must be installed, per local codes, to the side of wheelchair access area.
Service access to trap must be provided.

Install waste, supply and electrical lines in locations shown in Installation Drawing.
Waste and supply lines maybe installed for either rear or side entry. Verify proper
waste, supply, electrical and frame locations. Use level to verify horizontal and
vertical frame mounting to insure proper bowl! drainage.

Unpack fountain bowl, tilt bowl and insert into frame (see Installation Drawing),
placing waste end behind lower frame crosspiece. Hook top flange of bowl behind
top frame flange and swing bowl into position with studs projecting through slots in
lower frame crosspiece. Fasten in position with two hand-tightened 10-24 UNC wing
nuts.

Remove bowl waste slip joint nut and install the 1-1/4” O.D. waste elbow between
waste outlet and trap, cutting to length if required. Tighten slip joint nuts.

See Figure 2 for detail section view of side screw grille attachment. Unpack grille and
insert lower lip behind bowl, align sides and hold up flush to bottom of top of bowl.
Hold grille against wall and mark centers of grille side slots on wall. Masking tape
may be used to prevent finished wall damage from mark. Install the “s” clips in
mounting frame using #10 sheet metal screws into pre-drilled holes on lower end of
each side of frame. Tighten #10 screws while holding “s” clips centered on wall
marks. Check grille fit by installing grille and partially tightening # 6-32 socket head
screws through side of grille.

Model HWCTS8 Page 3 of 7




Step 6:

Step 7:

Step 8:

Step 9:

Step 10:

10/08

#6 SCREW

FINISHED _. e
WEALL S CLIP
V<§ i‘ [%\\;¢Jc SHEET
)} ‘p\\\ METAL SCREW
| Py L ’\
‘ \
/ /\\\ MOUNTING
ﬁ;ﬁf\\\ FRAME
/ “s“‘ f'/ { Y
A STUD

FIGURE 2

Similarly complete the lower panel “s” clip installation. Check lower panel alignment
by partially installing side screws.

Unpack and remove chiller from carton. Remove front panel screws and panel. Do
not remove insulating putty and foam from copper tubes or Styrofoam insulation from
evaporator coil. Remove any inner packing, which may be around compressor. If
applicable, remove junction box cover and electrical knock out on lower right side of
housing. Install fittings (supplied) in chiller inlet and outlet tubes (See Installation
Drawing).

Thoroughly flush supply line to remove all foreign matter. Connect 1/2” IPS supply
screwdriver stop (not supplied) to stub-out in wall. Place chiller on chiller support tray
against right hand side, fully to rear, with condenser (open panel) side facing to front.
Install supply 3/8” O.D. tubing (not supplied) between screwdriver stop and chiller
inlet. (Cut tubing to proper length, and follow general notes for proper connection
procedures for push-in type fittings). Tubing insulation is not normally required on
inlet side of chiller. Install insulated tube between fountain and chiller outlet. Open
screwdriver stop wide open while checking for leaks at all connections. Also check
waste for leaks.

Verify that electrical power is off and power supply voltage, phase and cycle match
specifications printed on chiller label. In accordance with local codes, wire directly to
incoming lines at internal chiller junction box. Verify that all inner packing is removed
and hand rotate fan blade to verify free rotation. Reattach chiller front panel. Turn
power on and verify that chiller cycles off after water reaches proper temperature.
Finally check for leaks.

Install grille and tighten outer side screws. Verify there is chilled water out of bubbler.

Model HWCT8 Page 4 of 7



MAINTENANCE

Step 1:  Periodically clean the strainer located inside the valve body. Refer to 5874 Valve
Manual for more information.

Step 2:  The condenser fins on chiller should be periodically cleaned with brush, air hose or
vacuum cleaner. Care should be taken not to bend or deform the condenser fins.

Step 3:  The chiller temperature control is factory set for 50 °F water under normal conditions.
For colder water, adjust control clockwise. For warmer water, turn counterclockwise.
Remove front chiller panel for access to temperature control. After adjustment allow
unit to cycle off before checking outlet water temperature.

TROUBLESHOOTING
PROBLEM REPAIR CHECKLIST

1. Insufficient bubbler flow. la. Check that inlet screwdriver stop valve is in wide-
open position.

1b. Verify minimum 30 psi flowing supply pressure.

1c. Clean strainer. See 5874 Valve Manual.

d. Adjust valve to increase flow. Use front adjust
screw or see 5874 Valve Manual.

2. Water too warm or cold. 2a. Adjust chiller temperature control, clockwise for
colder water.

FOUNTAIN REPLACEMENT PARTS LIST

MODEL/PART # QUANTITY USED DESCRIPTION
5705 1 Bubbler head
- 1 Strainer waste PCP
- 4 Nut 6-32 clip grille
Screw 6-32 x 3/8” BTN HD
- 4 SOC
5874 1 Complete valve assembly

© 2006 Haws® Corporation — All Rights Reserved
HAWS® and other trademarks used in these materials are the exclusive property of Haws Corporation.

10/08 Model HWCTS8 Page 5 of 7



‘uojesodio) smeH Jo Apedoid 8AIsnjoxe 8y} 8Je s|eUdjew 8say} Ul pasn SyJewapel) Jayjo pue gSMVYH  paalasay sjybly ||V - uoljesodioD smeH 90020

NOVEXVI/NOILV TIVISN “3dAl ONMVEa BT IS
88C6+%¢ # 000 XV4 04Nl

8LOMH|:
(S)1300N

WIOD"00SMDY MMM  :0}ISqeM WOD'00SMDYPSMDH :|IDW—8
1867, Jodobuig doo 3npoy 18Buns 4/ py] 33d BN smoH
pubuezyms Jopbing Lo¥E—HO ¢ bamuoog by smoH “orlmsodson A J

YZPL—6GE—GLL X0 ZLLY—6GE—GLL PUOYL 7o o) B
IS¥68 ‘AN SbdS ‘U] addopy GGyl
(L627—625—888—1) SMVH—XV4—888—L : X¥4 OANI

\vAZEL
3LV1d_LNFIVAIND3
VERLS MO0YULITHS _"7d0 TINNVHO N,
ZHS 33s SS300V m&<&mmwuxs V9 9IX.Z/L—1X.Z/|
g NN =2 Amm_o_w AUV1d SSI0OV
“ HLOg) A1ddns !/
34IS ILVYNY3LTV !
/

\ ‘G3AINOY¥A 39 LSO dvdL OL SSIQ0V
o S G -

NI 38 1SNV (0T H0 XXX—+T JAVYS ONILNNOW

37 31) dVHL AMT NIVINNOA
MOT38 QITIVLSNI 36 LONNVD dval

Qhyey, |/ NOLVTIVISNI dvall VoKL Wm,mmmw*
«62 NI—HONOY LT
wuig |y

wuwyle, «C/ =91
B¢ wweoz
-9 o v

009ZE£20 L o wag
l
|
|
|
I
|
|
I
|

\
/

Aou_._n_n_:mvm<
N-3LSYM ‘3’0 ..iz_i

\
/

wuwese|
&/ 1—€G

|

‘g VL3Id C 40 T 133HS NO NMOHS NOISNIWNId OL
S3AIS L31LNO ANV LIINI HLOE NO ONIgNL ¥3dd00 "a'0 ¥/l LNd H

"SNOILONYLSNI FONVNILNIVA/NOILY TIVLSNI SATYA ONY NOLLNE HSNd
¥04 VNNV FONVNILNIVA ANV NOILVHIO ¥/8GM¥A/¥/8S OL ¥343N H

|||||||||| (wwz'e) .8/1F SNOISNINIA NI-HONOY Q10H ¢

wwy/ Gy "SMIHOS TYLINLITHS OLF HLIM NILSVA ANV
—— INVYA NI STIOH HLIM AVYL L¥OddNS ¥3TIHO NI STIOH NoMV [Z]

"ATONIQYOODY @3LSNray 38 LSNN (x) AINUVA
SNOISNINIA ‘NMOHS NYHL ¥3HLO SININIYINOIY AlddNS ANV
JLSVM (SNOILYOOT) SNOISN3INIQ d04 "OL d3y¥3HAV 39 dINOHS
S3000 1VY3A34 ¥O ‘ILVLS “TYOO0T ‘LINN SIHL ONITIVLSNI NIHM L

‘S310N

L

=
E
E
E
E
E
E
E
E
E
E
E
=

“30LLON LNOHLIM 39NVHO Ol LO3ransS SLNINIUNSVIN ANV SNOLLVOIJIOILS VAN
SLNIN3AOHJNI 1ONAO¥d G3NNLLNOD "NOLLYOMENd 40 JNILL LV LOFMNOD ANV 3NdL SI LN3WNOOA SIHL

Page 6 of 7



# 000 XV4 O4NI

WOD'00SMDY MMM  :8}ISGOM WO 00SMDY®SMDH :|IDW—8
1£G6¢L @4odpbuis dooq ynpoy 1ebung y/ P37 83d BJN smoy
puppezyms jiopbing |oPS—HD € Pemyopg by smoH
¥TYL—BGE—GLL XOJ TILy—BGE—GLL ®uUOUd
LE¥68 ‘AN Sypds ‘U 3dda|y GGyl
(L6T7—62€—888—1) SMYH—XV4—888—| : XV4 O4NI

003Z€£201 - wma

ALIMVTIO ¥04 d3LLINO SONILLIA

TIvL3a
(43¥) )
YITIIHD

Il

[s]

Z/i—1 Xe

8LOMH]: a-g M
(S)13aon
vuosjpesodioo N_OMOZ__M
L 7, g/ ) 7 B
¢ VER
SS30JV
dIVHOT3IIHM
. wwgog
NIN 0
JONVYVITO
wweye
| . 27151

(@3anddns LON) dols

Alddns
wwey/
L

w/1—6¢*

YIAINAMINOS LdN 2/ |

NI—=HONOY

(qQ3anddns Fozv\”.
Alddns Wodi oNignl ,8/¢

wwy e | JNVY4 ONILNNOW
1OMH Y491

I
|

o

2 3

\I><w_._. 1d0ddns w_m_n_n__IoH

NAVARBE(S
ONILNNOW INVY4

W V130 335 - n3qg

Wuio (oL,

«8/€—€9

30V TIVM

30V

TIVM Q3HSINIJ_LSNIVOY S1ind
ANV SdV1d3A0 NV 40 dI1
1VHL OS Q3T1VISNI 38 LSNA

J/¢—18 F
: e N wwgze
il TH_ SS300V
X08 NOILONNP ] 7/1=12 WIM10313
Y3ITIIHD ._<z~_Ez_\m 0 wwge
SS300V IVOINLOF 13 _ S .8/c—1
~L W
] /(_.
4 =443 T71IHD
7AS H,  8YOH
(a3anddns) iy e |
avaH ¥31gang _\I|
OL NOILYINSNI /M 91711
ONIBNL ATddNnS .8/¢
. WWeOL ) gim
(qQ3Mddns) //¢ INVHESOLN
13INI 38nL Qo .8/ X 9vi3a 33S TIVM Q3HSINIA ants
38Nl 40 .¥/1 “¥ANIVHLS 3INMNI
A_l_‘l)\|n|
(@anddns) =

1
@3a33aN SV WML !
oNignL ao /1

—

("434) ¥ANIVYLS INNMNI

ONITdNOD

137LN0 {3 TIIHO
L3Nl 437UHD

JAVY4 ONILNNOW  :LNVLJOdNI

‘30LLON LNOHLM 39NVHO OL 103raNS SLNINIUNSYIN ANV SNOLLVOLID3dS INVA
SLNINIAOYNI LONAOYd G3INNLLNOD ‘NOLLYOMBNd 40 3WLL LV LO3A0O ANV 3NHL S| LN3WNOOA SIHL

Page 7 of 7



	HWCT8-spec
	HWCT8

